1U33U0) JO 3|qeL

=oL
INC  Protect the irreplacable -

Guardrail m Fencing m Vineyard stakes

Guardrail and accessories catalog

w
Table of contents
Steel beam guardrails 1 B
Guardrail end sections for speeds LESS than 50 km/h 2
(9}
End section anchor system for speeds LESS than 50 km/h 3
Flared guardrail end terminals for speeds HIGHER than 50 km/h (Type 1) on wood post 4
To consult installation manual: http://www.roadsystems.com/fleat.htm| o
Flared guardrail end terminals for speeds HIGHER than 50 km/h (Type 1), on steel post 4
To consult installation manual: http://www.roadsystems.com/fleat.htm| <
Sequential Kingking guardrail end terminals for speeds HIGHER than 50 km/h (Type 2) on wood post 5
To consult installation manual: http://www.roadsystems.com/skt.htm/
Sequential kingking guardrail end terminals for speeds HIGHER than 50 km/h (Type 2), on steel post 5 o
To consult installation manual: http://www.roadsystems.com/skt.html
Median guardrail terminals for speeds HIGHER than 50 km/h (Fleat MT) 6 ©
To consult installation manual: http://www.roadsystems.com/fleat-mt.html|
Brakemaster terminals (TL-3) 7
To consult installation manual: http://www.energyabsorption.com/products/products_brakemaster350_crash.asp =
m Median guardrail terminals for speeds HIGHER than 50 km/h (Cat-350) 8
To consult installation manual: http://www.highwayguardrail.com/products/cat350.html
Flared box beam end terminals for speeds HIGHER than 50 km/h 9 -
To consult installation manual: http://www.roadsystems.com/beat-beat-mt.htm/
Median box beam end terminals for speeds HIGHER than 50 km/h 10 N
To consult installation manual: http://www.roadsystems.com/beat-beat-mt.htm|
] Crash cushion systems (Quad Guard) 11 .
To consult manual: http://www.energyabsorption.com/products/products_quadguard._elite.asp w
Crash cushion system (React-350) 12
To consult manual: http://www.energyabsorption.com/products/products_react350_impact.asp :
Guardrail bridge attachments 13
Steel beam guardrail posts =
Guardrail steel posts 16
Guardrail wood posts 17 .
Bolts and hardware 17 <
Cable guide rail and end sections 18 -
N
Guardrail and accessories catalog Effective February 1,2013

8l

new



http://www.roadsystems.com/fleat.html
http://www.roadsystems.com/fleat.html
http://www.roadsystems.com/skt.html
http://www.roadsystems.com/skt.html
http://www.roadsystems.com/fleat-mt.html
http://www.energyabsorption.com/products/products_brakemaster350_crash.asp
http://www.highwayguardrail.com/products/cat350.html
http://www.roadsystems.com/beat-beat-mt.html
http://www.roadsystems.com/beat-beat-mt.html
http://www.energyabsorption.com/products/products_quadguard_elite.asp
http://www.energyabsorption.com/products/products_react350_impact.asp

Jua3U0d JO 3|qe]

|n|: Protect the irreplacable

Guardrail m Fencing m Vineyard stakes =

| Steelbeamguardrails
Description  Productcode  Weightinlbs
3.81 m galvanized steel beam guardrail slotted at 0.95 m c¢/c | glis-9500 | 91.0 N
wn

91.0
o
~

45.5

Guardrail and accessories catalog Effective February 1,2013

page 10of 18

8l

new




|n|: Protect the irreplacable

Guardrail m Fencing m Vineyard stakes

Galvanized flared end section- Type 1 | ext-b.effile 17.6
Galvanized double buffer (BCT) end section - Type 2A | ext-s.ronde 46.3

ext-s.plate 17.6
Galvanized median buffer end section - Type 2B ext-b.rond 30.9
Galvanized single buffer end section - Type 3 ext-b.sferme 22.0
Galvanized bridge shoe - Type 4 ext-b.plat 17.6

Jua3U0d JO 3|qe]

7l €l 45 LL oL

Sl

Guardrail and accessories catalog

new

Effective February 1,2013
page 2of 18

8l




Jua3U0d JO 3|qe]

|n|: Protect the irreplacable

Guardrail m Fencing m Vineyard stakes =

Descripon  Productcode  Weightinlbs  “

Complete anchor system (cable, box, pipe sleeve and bearing plate) | syst-complet | 67.0 I
Anchor cable (nuts and lock washers included) | syst-cable | 14.0 wn
e h O

o
~

Anchor box | syst-boitier 14.5
y—— =

/o o o a/

©

Pipe sleeve 60 x 150 mm (2-3/8"x 6") | syst-tuyau 0.5
o

Bearing plate 6 x 200 x 200 mm (1/4"x 8" x 8") syst-plaque 3.0
o
0 —
w
Soil plate 6 x 450 x 600 mm (1/4"x 18" x 24") syst-pl.anc 17.6 =
o o o T
o

Anchor cable plate 12x70x 76 mm (1/2"x 2-3/4"x 3") syst-pl.galv 1.5
N

Guardrail and accessories catalog Effective February 1, 2013

page3of18 « _|
new o




Jua3U0d JO 3|qe]

I

=SC .

- Inc  Protect the irreplacable
[ | | |

Guardrail m Fencing m Vineyard stakes =

Descripton  Productcode  Weightinlbs  “

on wood post

Complete flared end terminal for speeds HIGHER than 50 km/h (Type 1), ‘ disp-g.type1 ‘

o
Complete flared end terminal for speeds HIGHER than 50 km/h (Type 1), disp-g.typelsp
on steel post
®
{\3?’-5' Straight Flare
N

6'—32
6—3"
ﬁ& e .
12 6 \7\ = -
2" 8 FLEAT-sp Termingj \-!\6 -J\T\s‘—_‘in

Traoffic Side

!
5
g
Gl

30" to 48"
Length of Need and
End of Payment for Installation

—
o
TRAFFIC

— —_
N

Guardrail and accessories catalog Effective February 1,2013
page4of18 = _
new )




Jua3U0d JO 3|qe]

=5C
|n|: Protect the irreplacable

Guardrail m Fencing m Vineyard stakes =

* Sequential Kingking guarcrail end terminals for spees HIGHER than 50 (Type 2) on wood post _
Description  Productcode  Weightinlbs
Complete sequential kingking end terminal for speeds HIGHER than 50 km/h disp-g.type2 N
(Type 2), on wood post

12'=6" or 25 W-beam Rail Elements Standard "
line éosts
4 (®
-3" @ 6'-3" @ 6'-3" @ 6'-3 @ 6'-3 6'-3" @ 6'-3" . 6'—3"
3/8" ¢ x 3"
Lag Screws o
Wood
Post
~
GROUND LINE
lnl m ! [l D ” e
f 4 H H + # i
Cobl | : | } | | |
aple u u u u
Ground|| i chor ; - N =2
Line Bracket
Strut ~ Assembly
0

* Sequenta Kingking guarcrall nditeminal for speeds IGHER than 50k (Type 2) onseelpost
Complete sequential kingking end terminal for speeds HIGHER than 50 km/h disp-g.type2sp -
(Type 2), on steel post N

®
12'—6" SKT—SP Terminal ——25" (6" W6X9 Steel Posts and 12 gage W—Beam Required in this Region)
Gl_al} c)_z’” -+ Gl_s)i % Gl_3ll . Gf_3l¢ Iﬁ G)_a” . E
:‘ k\ aim [ [ "III-I" I uril:l.u
Length of Need cmd/ G
End of Payment for Installation
TRAFFIC
—— -
o
N
Guardrail and accessories catalog Effective February 1,2013
page50f18
new ")




Jua3U0d JO 3|qe]

=5C
|n|: Protect the irreplacable

Guardrail m Fencing m Vineyard stakes =

Descripon  Productcode  Weightinlbs  “

Complete median flared end terminal for speeds HIGHER than 50 km/h (Fleat MT) | disp-g.fleatmt | 1750.0 N
wn
o
~
o0
Glissidre
1930mm

Poteau 1830mm ©°

Avec Bloc espaceur Téte d'impact
Systéme d'ancrage Eo&;:tion =
et clible d'ancrage Ne pas attacher la = e

glissidre au potean #3 déflecteur
Systéme d'ancrage
et ciible d"ancrage —_
Travers d"appui Tiadis oncengs
Poteau 1520mm et
Cible de retenue Tube de sol (Poteau .
1,2 et4) N
—
w
N
—
wn
o
~
Guardrail and accessories catalog Effective February 1, 2013

page60of18 = _
new o




Jua3U0d JO 3|qe]

=5C
|n|: Protect the irreplacable

Guardrail m Fencing m Vineyard stakes =

| Brakemasterterminals(TL3)
Descripon  Productcode  Weightinlbs  “

Complete Brakemaster 350 median end terminal for speeds HIGHER than 50 km/h | disp-g.brakem | 2300.0

0l

Ll

cl

€l

vl

Sl

9l

Ll

Guardrail and accessories catalog Effective February 1,2013

page 7 of 18
new

8l




Jua3U0d JO 3|qe]

|n|: Protect the irreplacable

Guardrail m Fencing m Vineyard stakes =

Median guardrail terminals for speeds HIGHER than 50 km/h (Cat-350) | disp-g.cat 2100.0

é{nnu'mm
TS &
P 5840 SDE AL 10 GA
BOTH SDES.
§ X 5 SR
PC RS
t N v
= -
-
T
2
4+

{
¥

0l

Ll

cl

€l

vl

Sl

9l

Ll

Guardrail and accessories catalog Effective February 1,2013

page 8 of 18
new

8l




Jua3U0d JO 3|qe]

|n|: Protect the irreplacable

Guardrail m Fencing m Vineyard stakes =
 Flared box beam end terminals for speeds HIGHER than S0km/h —_
w
Complete flared box beam end terminal for speeds HIGHER than 50 km/h | disp-g.beat | N
s wn
AN
SPU
BOX-BEAM 8' g o o
Sp
~
o0
WEAK BOX-BEAM POSTS e}
W/ SOIL PLATE
END TUBE TIE PLATE END
' RAIL SUPPORT RAIL =

BRACKET  caBLE AssemaLy
POST BREAKER BOX—BEAM BURSTING
TF\)AI_—F| C ENERGY ABSORBING -
. STEEL BREAKAWAY POST TERMINAL
—t ER AND LOWER ASSEMBLY BEARING PLATE

o
®
=
v
o
N

Guardrail and accessories catalog Effective Feb’r‘)’:;yegiﬂg
new 29




Jua3U0d JO 3|qe]

-
|n|: Protect the irreplacable
Guardrail m Fencing m Vineyard stakes =
| Median boxbeam end terminalsfor speeds HIGHER than 50 kb _
w
Complete median box beam end terminal for speeds HIGHER than 50 km/h | disp-g.beatmt | N
w
o
+ 3

~ B =3

=3 T %
N 0 -

2 Seag
8'—q» CE§
5 e
Pagf 12 g
o0
TS6 x 6 TO TSB x 6
CONNECTION SLEEVE
©
RAIL

WEAK BOX-BEAM POSTS —
W/ SOIL PLATE o

END TUBE TIE PLATE

RAIL SUPPORT
BRACKET ~ CABLE ASSEMBLY =
POST BREAKER gg:égg\rzau Bungi"rﬂlgr;
TETHER CABLE ATTACHED ABSOR
TRAFFIC BEHIND BEAT HEAD TERMINAL
e STEEL BREAKAWAY POST BEARING PLATE =
UPPER AND LOWER ASSEMBLY
®
=
&
o
N
Guardrail and accessories catalog Effective February 1, 2013

page100f18 = _
new o




Jua3U0d JO 3|qe]

|n|: Protect the irreplacable

Guardrail m Fencing m Vineyard stakes =

N
w
QuadGuard system for narrow hazards 24 po. quadguard24 22550 N
QuadGuard system for narrow hazards 30 po. quadguard30 3100.0
QuadGuard system for narrow hazards 36 po. quadguard36 3200.0
QuadGuard system for narrow hazards 69 po. quadguard69 3700.0 wn1
QuadGuard system for narrow hazards 90 po. quadguard90 3800.0
o
i v
E : = =]
o
W = &
¥ = 25 6.74m[22'-13/8"]
Sz | E i T @ as
=0 13 I 2o 1 _ O
2& — So ]
E g 760 mm [30"] MODEL NO. QS3006 ‘é =
59 22 —
% o
915 mm [36] MODEL NO. Q53606 — 2285 mm [90"] MODEL NO. QS9006 -
o
®
IS
v
o)
N

Guardrail and accessories catalog Effective February 1,2013

page110of18 _
new

8




Jua3U0d JO 3|qe]

=5C
|n|: Protect the irreplacable

Guardrail m Fencing m Vineyard stakes =

React 350 Crash cushion system 36 po. react350 4080.0

HAZARD

0l

CENTERLINE

Ll

cl

Figure 8
REACT 350 (36") Placement

€l

vl

Sl

9l

Ll

Guardrail and accessories catalog Effective February 1,2013

page 12 0f 18
new

8l




Jua3U0d JO 3|qe]

|n|: Protect the irreplacable

Guardrail m Fencing m Vineyard stakes =

Descripon  Productcode  Weightinlbs  “

Bridge shoe front plate (oval holes)

S
45x 6 x 450 mm (1-3/4"x 1/4"x 18") syst at-450 0.6
45x6x310 mm (1-3/4"x 1/4"x 12") systat-310 04
w
EG o |
o
Bridge shoe back plate
100x 10x450x 125 mm (4"x 3/8"x 18"x 5") | syst at-pliees 17.5
~
o0
©
New jersey spacer blocks
40x 150 x 6 x 150 mm (1.5"x 6" x 1/4"x 6") - for GSR 017 syst at-bloc40 5.0 _
50x150x 6 x 150 mm (2"x 6"x 1/4"x 6") syst at-bloc50 6.0 o
90x 150 x 6 x 150 mm (3-1/2"x 6"x 1/4"x 6") syst at-bloc90 8.0
115x 150 x6 x 150 mm (4-1/2"x6"x 1/4"x 6") syst at-bloc115 10.0 -
o
®
Compressible steel tube N
3114 x 6 x 230 mm - for GRS015 syst at-tube114 10.0
&
o
N
Guardrail and accessories catalog Effective February 1, 2013
page130f18 = _
new o




Jua3U0d JO 3|qe]

|n|: Protect the irreplacable

Guardrail m Fencing m Vineyard stakes =

Descripon  Productcode  Weightinlbs  “

Galvanized compressable steel tube - for GSR 015 | syst at-tube230 | 1 N
Tube compressible galvanisé —___
K en acier & 114 x 230 x 6 (2) — Al
Trou e 10 ;—-m-ﬂ w
o 12 o of \
{ O 3
‘K\ o
/l — Trou @ 19
L —0Q | AL,

e el ELEVATION -

Galvanized guardrail connector for concrete bridge - for GSR 017 | syst at-gsr017 52
o0
©
S
Galvanized type 43 bridgerail/guardrail connector - for GSR 021 syst at-gsr021 43 =
o
®
Galvanized type 47 bridgerail/guardrail connector - for GSR 023 syst at-gsr023 46 A
v
o)
N

Guardrail and accessories catalog Effective February 1, 2013

page140f18 = _
new o




|n|: Protect the irreplacable

Guardrail m Fencing m Vineyard stakes

Galvanized type 210 bridgerail/guardrail connector - for GSR-025 | syst at-gsr025 | 55

Galvanized type 47 back plate C75 x 8 x 400 mm (C3"x 5/16"x 15.75") - for GSR-022 syst at-arr400 2

o
L=
-
fu=%

400

Galvanized type 47 spacer plate 2,6 x 150 x 100 mm (1”x 6" x 4") - for GSR 022 | syst at-cale 0.25

Guardrail and accessories catalog Effective February 1,2013

new

page 150f 18

Jua3U0d JO 3|qe]

Ll ol Gl vl €l cl Ll oL

8l




II'II:

Protect the irreplacable

Guardrail m Fencing m Vineyard stakes

3inches I-beam - - 575 x 8 x 1830 mm (72") (Welded foil plate) | pot-agalv8 48.0
39.0-—&‘
-
4.0
?TD
S75X8
Galvanized 8.5#/ft steel post -W150 x 13 x 1830 mm (72") pot-agalv13 51.0
Galvanized 94/ft steel post - W150 x 14 x 1830 mm (72") pot-agalvi4 54.0
Galvanized 13#/ft steel post - W200 x 19 x 2285 mm (90”) - for GSR 016 pot-agalv19 95.5
| | i
_Hy =20 g i ] ! |~Trou o 20
¢ 6 oy
« 10 g gl
i [Ll30
l ki
] 1
R
PLAN ELEVATION
Wood blocks for steel post - 150 x 200 x 400 mm (6" x 8" x 16") | pot-blocrain 25.0

Poteau W150 x 13 x 1830
ou W150 x 14 x 1830

7

Ecarteur en bois
5150 x 200 x 400 _\

&
@_} @\é &
& Vazrigubl'e_
|
il 500
| I Ly S
o ]
< =
G oo -
5| e85
= £3
-8

1300

W/AE/1905

Guardrail and accessories catalog

new

Effective February 1,2013
page 16 of 18

Jua3U0d JO 3|qe]

Ll ol Gl vl €l cl Ll oL

8l




Jua3U0d JO 3|qe]

=5C
|n|: Protect the irreplacable

Guardrail m Fencing m Vineyard stakes =

115.0

25.0

Wood post - 150 x 200 x 1830 mm (6" x 8" x 72") pot-bois1830
Wood block - 150 x 200 x 400 mm (6" x 8"x 16") pot-bois400

Poteau
Ecarteur en bois 150 x 200 x 1830
150 x 200 x 400 o
lou (2),
J @ 1\ Iar?guu(eu)r 75

@%:’..j <

70

§ Variable
S B o
T Q%;;@ -
"| 58 o
W/BE/1905 0
8
Guardrails hardware
Galvanized guardrail bolt - 5/8"x 1-1/4" boul-11/4 0.18
Galvanized guardrail bolt - 5/8"x 2" boul-2 0.19 =
Galvanized guardrail bolt - 5/8" x 8" boul-8 0.67
Galvanized guardrail bolt - 5/8”"x 10-1/2" boul-101/2 0.81 -
Galvanized guardrail bolt - 5/8"x 18" boul-18 1.37 N
Galvanized guardrail bolt - 5/8" x 26" boul-26 1.94
Galvanized Hex nut - 5/8” boul-ecrou 0.19 T
Galvanized flat washer - 5/8” boul-rond 0.08
Galvanized lock washer - 5/8" boul-rondress 0.02 _
N
Other hardware
Galvanized lock washer - 1” rondres-1 0.09 e
Wedge anchor-1"x 6" boul-chevexp 1.50
Reflective marker (white) - 2" x 4" plagref-blanche 0.05
Reflective marker (yellow) - 2" x 4" plagref-jaune 0.05 )
N
Guardrail and accessories catalog Effective February 1, 2013
page170f18 _
new o




Jua3U0d JO 3|qe]

|n|: Protect the irreplacable

Guardrail m Fencing m Vineyard stakes =

Descripon  Productcode  Weightinlbs  “

Galvanized 3 inches end section I-beam - S75 x 8 x 1830 mm glisfl-pot.ext 52.0
N
Galvanized 3 inches intermediate I-beam - S75 x 8 x 1830 mm glisfl-pot.int 52.0
Galvanized angle - 150 x 100 x 12 x 430 mm (6" x 4" x 1/2"x 17") glisfl-fer ang150 54.0
Galvanized angle - 100 x 75 x 6 x 200 mm (4”x 3”"x 1/4"x 8") glisfl-fer ang100 25.0 wn
Galvanized anchor rod - 20 x 750 mm ( 1-3/4" x 30") glisfl-tige 4.0
Spring and compensating device glisfl-tendeur 38.0
Galvanized J-hook bolts - 8 x 45 mm (5/16" x 1-3/4") (nut included) glisfl-boulon 0.05 o
Galvanized 3/4"3x7 cable glisfl-cable 0.85
54 ~
- 3 Voir détail A
2 ;’aaoriat?lerj_i
min. 500 min (o'
R
; =TT ®
o
C/A/5000
CIAI5000 =
Section Section
Cable dubas d'ancrage efficace Détail de la
59 o glissiére, voir dessin N
o= S = normalisé 001.
@ e T LL Il _
1 T | — B
S
5000 1800 1800 1800 1800 S
L} T 5‘ —q
PLAN Limite de 'accotement -
v
o)
N
Guardrail and accessories catalog Effective February 1, 2013
page180f18 = _
new o




